Efficiency vs Dxy(PV)
0.2

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__CKF_ORIG

I Efficieng] —— DQM_TT__CKF_MODIF

"
[2
z
o !
"
>
z
c 0.8
Q
o
e
S 04
04
0.2
w1 ]
o ¥ ! !
: I
4 | |
1 A
0957170.80.6-04-0.2 0 0.2 0.4 0.6 08 1
TP dxy(PV) (cm)
s 1 T T
g [ : :
¥ I : :
e 1— ------------ .-I-----. ----------- T
> I . .
> : :
o o . .
& 0.8F- - R R T
s I : :
g f :
) o .
0.6 O AP Lo
0.4F- P SEreh FER
0.2f--- e P | e Reeh Feeens
I i i ; i i
o +® y
5
@
e FEEEE | Y - S R
0¥ =20 -0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

N

o

efficiency vs dz(PV)

.5 1
TP dz(PV) (cm)



	Contents
	Page 1


